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high 80 26 6 1 1 0
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21 HR = 1.80 (1.00-3.25)
5 @ logrank P = 0.046
w o
a
z 3]
=
g 3]
o
o g-
— low
o|— high
o

0 10 20 30 40 50 60
Time (months)
Number at risk
low 23 23 14 11 10 9 8
high 70 53 30 20 15 12 9

C o
< HR = 1.82 (0.80-4.14)
© logrank P = 0.150
@ °|
C o
z °]
5 <
® o
Q
2
o ST
— low
o] — high
o T T

0 20 40 60 80 100 120
Time (months)
Number at risk

low 13 12 8 7 6 2 0
high 44 35 21 12 6 4 1
2 HR = 1.34 (0.74-2.44)
5 ol logrank P = 0.340
w o
a
z 3]
=
g 3
)
o g.
— low
o|— high
o

0 10 20 30 40 50 60
Time (months)

Number at risk
low 32 29 16 10 10
high 25 19 12 8 5 4

©
B



